Unit 7 Test Study Guide

Find the slope of a line that passes through (-2, 6) and (3, 8).
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2. Find the slope of a line that passes through (5, 8) and (3, 6).
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3. Find the slope of a line that passes through (2, 6) and (2, 9).
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4. Find the slope of a line that passes through (4, 6) and (3, 6).
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5. Find the slope of a line that passes through (-1, 5) (5, 4).
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17. 2lbs of carrots feed 5 goats. How many pounds of carrots do | need to

feed 18 goats?
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18. A baby kitten cat drink 1.5 oz of formula at each feeding. How man

ounces of formula do | need to feed 6 kittens? l. 5 A (' -




22. 5—(2x—4) =5x+3
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23. 4x +3=4x-2
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24. 5x+1=5x+1
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29. Simplify:

6+2 +8(2)

2-6 +3(2)
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